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202 04| 36,320 40,320 24,000
01 2L AL 36,320 40,320 24,000
OboI2sY E2=F 36,320 40,320 24,000
SREA 2el 253,324 253,624 A300
206 =4I 2,700 3,000 A300
01 =4l 2,700 3,000 A300
OFArZel MEFR(LDSIIH, &II2
Mz 3) 2,700 3,000 A300
s9- s 2 ASMY 144,000 160,000 216,000
207 HoHe| 144,000 160,000 216,000
01 2 E | 144,000 160,000 216,000
OAUMA SESE &
=& (2024~2028 ) 144,000 160,000 16,000
28012 SAlIa =4 JI12HE H28Y 0 100,000 100,000
207 AR 0 100,000 100,000
01 A1E9H| 0 100,000 100,000
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= 3,000 3,000 0
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08 SI2tI=2| (4| 0 35,000 /35,000
O=ZEZIt oA 0 35,000 /35,000
sgols|2t AY ARZA 0 30,000 /30,000
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01 g EAH| 0 30,000 230,000
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S 2,522,211 1,068,854 1,453,357
2,189,043 2,316,341 A127,298
Mol & S 1,503,705 0 1,503,705




2A:
X XH -
o e

=aak

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
< 1,503,705 0 1,503,705
302 OlI=2L Mol 24 = 1,508,705 0 1,503,705
= 1,503,705 0 1,508,705
02 eIZRRITHol RS FE S22 1,503,705 0 1,503,705
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HOAEA) 41,100 0 41,100
s 41,100 41,100
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Al 140,472 257,950 A117,478
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